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QUESTION 1

How many 100G transponders are supported in the NCS 2006 chassis?
A.3

B. 4

C.6

D.8

Correct Answer: C

QUESTION 2

In Cisco Transport Controller, which type of user can provision all settings on the Wire Speed Encryption card?
A. transport super user

B. security super user

C. security user

D. transport user

Correct Answer: B

QUESTION 3

Which combination and quantity of ports does the AnyRate Xponder card have?
A. 8 SFP and 2 XFP

B. 10 SFP and 2 SFP+

C. 8 SFP and 4 QSFP

D. 6 SFP and 2 CPAK

Correct Answer: A

QUESTION 4
Which type of connector is used on the 16-WXC-FS and associated mesh patch panels?
A.LC

B. SC
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C. MPO

D.FC

Correct Answer: C

QUESTION 5

Which two options are the two modes of operation for the 10 port SFP+ line card? (Choose two.)
A. 10 x 10G muxponder client for 100G line card

B. wire speed encryption

C. 5 x 10G transponder

D. dispersion compensation

Correct Answer: AC
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